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1~ fERREEE (4%X10=40%)
(a) D’Alember’s paradox
(b) Incompressible fluid
(¢) Velocity potential
(d) Newionian fluid
{e) Reynolds number
(f) Vortex shedding
(g) Irrotational flow
(h) Froude number
(i) Laminar flow
() Stream line
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1. For a beam subjected to bending moment and shear loadings shown in Fig.1
please draw the shear force and the bending moment diagrams, (25%)

2. Fgr the cross section of the beam shown in Fig.2, where E;=50MPa, Ep=1000MPa,
the bending moment M=350 Kg-m, please find the maximum normal stress ..
in the beam. (25%)

3. Por a beam shown in Fig.3, where a spring with stiffness 1.0EI/L? is added in the

end of the beam to resist for the beam, please find the deflection 3y, in the end of
the beam. (30%)

4. For the engincering design, the principles must be applied generally including
safety, serviceability and economy. According to your engineering experience,
please compare the material of steel and reinforced concrete used in the high-rise
building construction in Taiwan. (20%)
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